

## New Modular Relations and General Formulas for Explicit Evaluations of a Continued Fraction of Order Six

Nipen Saikia

*Department of Mathematics, Rajiv Gandhi University,  
Rono Hills, Doimukh-791112, Arunachal Pradesh, India  
E-mail: nipennak@yahoo.com*

### Abstract

In this paper, we prove some new modular relations for a continued fraction  $X(q)$  of order six by establishing new theta-function identities. We also offer general formulas for the explicit evaluations of  $X(q)$  and by parameterizations.

**AMS Subject Classification:** 33D20, 11F55.

**Keywords:** Ramanujan's theta-functions, continued fraction, explicit values.

### 1. Introduction

For  $|q| < 1$ , Ramanujan's three special theta-functions are defined by

$$\phi(q) := f(q, q) = \sum_{n=-\infty}^{\infty} q^{n^2} = \frac{(-q; q^2)_{\infty} (q^2; q^2)_{\infty}}{(q; q^2)_{\infty} (-q^2; q^2)_{\infty}}, \quad (1.1)$$

$$\psi(q) := f(q, q^3) = \sum_{k=0}^{\infty} q^{k(k+1)/2} = \frac{(q^2; q^2)_{\infty}}{(q; q^2)_{\infty}}, \quad (1.2)$$

and

$$f(-q) := f(-q, -q^2) = \sum_{n=-\infty}^{\infty} (-1)^n q^{n(3n-1)/2} = (q; q)_{\infty}. \quad (1.3)$$

where  $(a; q)_{\infty} := \prod_{k=1}^{\infty} (1 - aq^{k-1})$ . If  $q = e^{2\pi iz}$  with  $\text{Im}(z) > 0$ , then  $f(-q) = q^{-1/24} \eta(z)$ , where  $\eta(z)$  denotes the classical Dedekind eta-function.

Ramanujan recorded many continued fractions and some of their explicit values in his second notebook [6] and in his lost notebook [7]. Some of the Ramanujan's continued fractions can be expressed in terms of Ramanujan's theta-functions. One such continued fraction is  $X(q)$  which is studied by Vasuki et al. [8] and is defined by

$$X(q) := \frac{q^{-1/4}(1-q^2)}{1-q^{3/2}} + \frac{(1-q^{1/2})(1-q^{7/2})}{q^{1/2}(1-q^{3/2})(1+q^3)} + \frac{(1-q^{5/2})(1-q^{13/2})}{q^{3/2}(1-q^{3/2})(1+q^6)} + \cdots \quad |q| < 1. \quad (1.4)$$

In terms of Ramanujan's theta-functions,  $X(q)$  [8, p. 80, (1.9)] can be expressed as

$$X(q) := q^{1/4} \frac{\psi(q^3)}{\psi(q)}. \quad (1.5)$$

Vasuki et al. [8] also established modular relations connecting the continued fraction  $X(q)$  with the continued fractions  $X(q^2)$ ,  $X(q^3)$ ,  $X(q^5)$ ,  $X(q^7)$ , and  $X(q^{11})$ . In this paper, we prove new modular relations connecting  $X(q)$  and the continued fractions  $X(-q)$  and  $X(q^4)$  by establishing some new theta-function identities. We also give a new approach to the modular relation connecting  $X(q)$  and  $X(q^2)$  which is established in [8].

In his notebooks, Ramanujan recorded several explicit values of theta-functions  $f(-q)$ ,  $\phi(q)$  and  $\psi(q)$  which are proved by Berndt and Chan [5]. An account of these can also be found in Berndt's book [4]. Recently, Yi [9] also found many new explicit values of  $\phi(q)$  and its quotients by finding explicit values of the parameters  $h_{k,n}$ , and  $h'_{k,n}$  of theta-function  $\phi(q)$  which are respectively defined by

$$h_{k,n} := \frac{\phi(q)}{k^{1/4}\phi(q^k)}; \quad q = e^{-\pi\sqrt{n/k}}, \quad (1.6)$$

and

$$h'_{k,n} := \frac{\phi(-q)}{k^{1/4}\phi(-q^k)}, \quad q = e^{-2\pi\sqrt{n/k}}, \quad (1.7)$$

where  $k$  and  $n$  are rational numbers. Motivated by Yi's work, Baruah and Saikia [1] introduced two parameters  $g_{k,n}$  and  $g'_{k,n}$  of the theta-function  $\psi(q)$  which are respectively defined by

$$g_{k,n} := \frac{\psi(-q)}{k^{1/4}q^{(k-1)/8}\psi(-q^k)} \quad q = e^{-\pi\sqrt{n/k}}, \quad (1.8)$$

and

$$g'_{k,n} := \frac{\psi(q)}{k^{1/4}q^{(k-1)/8}\psi(q^k)}, \quad q = e^{-\pi\sqrt{n/k}}, \quad (1.9)$$

where  $k$  and  $n$  are rational numbers. They also calculated several explicit values of  $g_{k,n}$  and  $g'_{k,n}$  and found explicit values of  $\psi(q)$ . In this paper, we use the parameters

$h_{k,n}$ ,  $h'_{k,n}$ , and  $g'_{k,n}$  defined above to prove general formulas for explicit evaluations of  $X(e^{-\pi\sqrt{n/3}})$  and  $X(e^{-4\pi\sqrt{n/3}})$ .

In section 2, we record some preliminary results which will be used in the subsequent sections. In section 3, we prove some new theta-function identities. In section 4, we prove modular relations connecting  $X(q)$  with the continued fractions  $X(-q)$  and  $X(q^4)$ . We also give alternate proof of modular relation connecting  $X(q)$  and  $X(q^2)$  which is due to Vasuki et al. [8]. Finally in section 5, we establish general formulas for explicit evaluations of  $X(q)$ .

To end this introduction, we define Ramanujan's modular equation. Let  $K$ ,  $K'$ ,  $L$ , and  $L'$  denote the complete elliptic integrals of the first kind associated with the moduli  $k$ ,  $k'$ ,  $l$ , and  $l'$ , respectively. Suppose that the equality

$$n \frac{K'}{K} = \frac{L'}{L} \tag{1.10}$$

holds for some positive integer  $n$ . Then a modular equation of degree  $n$  is a relation between the moduli  $k$  and  $l$  which is implied by (1.10). Ramanujan recorded his modular equations in terms of  $\alpha$  and  $\beta$ , where  $\alpha = k^2$  and  $\beta = l^2$ . We say that  $\beta$  has degree  $n$  over  $\alpha$ . By denoting  $z_n = \phi^2(q^n)$ , where  $q = \exp(-\pi K'/K)$ ,  $|q| < 1$ , the multiplier  $m$  connecting  $\alpha$  and  $\beta$  is defined by

$$m = \frac{z_1}{z_n}. \tag{1.11}$$

## 2. Preliminary Results

**Lemma 2.1.** [8, p. 80, Lemma 2.1]

$$\frac{\phi^2(-q)}{\phi^2(-q^3)} = \frac{1 - 3X^2(q^2)}{1 + X^2(q^2)} \tag{2.1}$$

**Lemma 2.2.** [8, p. 81, Lemma 2.6]

$$\frac{\phi^4(-q)}{\phi^4(-q^3)} = \frac{1 - 9X^4(q)}{1 - X^4(q)}. \tag{2.2}$$

**Lemma 2.3.** [3, p.122, Entry 10(i), (ii), (iii)]

$$\phi(q) = \sqrt{z_1}, \tag{2.3}$$

$$\phi(-q) = \sqrt{z_1}(1 - \alpha)^{1/4}, \tag{2.4}$$

$$\phi(-q^2) = \sqrt{z_1}(1 - \alpha)^{1/8}. \tag{2.5}$$

**Lemma 2.4.** [3, p. 123, Entry 11(i),(ii)]

$$\psi(q) = \sqrt{1/2}\sqrt{z_1}\alpha^{1/8}q^{-1/8} \tag{2.6}$$

$$\psi(q^2) = \frac{1}{2}\sqrt{z_1}\alpha^{1/4}q^{-1/4}. \tag{2.7}$$

### 3. Theta-Function Identities

In this section, we prove some new theta-function identities which will be used in the subsequent sections.

**Theorem 3.1.** If  $P = \frac{\phi(q)}{\phi(q^3)}$  and  $Q = \frac{\phi(-q)}{\phi(-q^3)}$  then

$$P^2 + Q^2 + P^2Q^2 = 3. \quad (3.1)$$

*Proof.* Transcribing  $P$  and  $Q$  using (2.3) and (2.4), we have

$$P = \sqrt{\frac{z_1}{z_3}} = \sqrt{m} \quad \text{and} \quad Q = \sqrt{m} \left( \frac{1-\alpha}{1-\beta} \right)^{1/4}, \quad (3.2)$$

where  $\beta$  has degree 3 over  $\alpha$ . From (3.2), we have

$$Q^2 = P^2 \left( \frac{1-\alpha}{1-\beta} \right)^{1/2}. \quad (3.3)$$

By [3, p. 234], we have

$$\left( \frac{1-\alpha}{1-\beta} \right)^{1/2} = \frac{3-m}{m(m+1)}. \quad (3.4)$$

Employing (3.2) and (3.4) in (3.3) and then simplifying, we complete the proof. ■

**Theorem 3.2.** If  $P = \frac{\phi(-q)}{\phi(-q^3)}$  and  $Q = \frac{\phi(-q^2)}{\phi(-q^6)}$  then

$$P^4 + Q^4P^2 + Q^4 - 3P^2 = 0. \quad (3.5)$$

*Proof.* Transcribing  $P$  and  $Q$  using (2.4) and (2.5), we have

$$P = \sqrt{m} \left( \frac{1-\alpha}{1-\beta} \right)^{1/4} \quad \text{and} \quad Q = \sqrt{m} \left( \frac{1-\alpha}{1-\beta} \right)^{1/8}, \quad (3.6)$$

where  $\beta$  has degree 3 over  $\alpha$ . Now (3.6) implies

$$m = \frac{Q^4}{P^2}. \quad (3.7)$$

Employing (3.4) in (3.6) and simplifying, we get

$$Q^4 = \frac{m(3-m)}{m+1}. \quad (3.8)$$

Invoking (3.7) in (3.8) and simplifying we complete the proof. ■

**Theorem 3.3.** If  $P = \frac{\psi(q)}{q^{1/4}\psi(q^3)}$  and  $Q = \frac{\psi(q^2)}{q^{1/2}\psi(q^6)}$  then

$$P^4 + 3Q^2 - P^4Q^2 + Q^4 = 0. \quad (3.9)$$

*Proof.* Transcribing  $P$  and  $Q$  using (2.6) and (2.7), we have

$$P = \sqrt{m} \left(\frac{\alpha}{\beta}\right)^{1/8} \quad \text{and} \quad Q = \sqrt{m} \left(\frac{\alpha}{\beta}\right)^{1/4}, \quad (3.10)$$

where  $\beta$  has degree 3 over  $\alpha$ . Now (3.10) gives

$$m = \frac{P^4}{Q^2}. \quad (3.11)$$

Applying (3.15) in (3.10), we get

$$P^4 = \frac{m(3+m)}{m-1}. \quad (3.12)$$

Simplifying (3.12) by invoking (3.11), we complete the proof. ■

**Theorem 3.4.** If  $P = \frac{\phi(-q)}{\phi(-q^3)}$  and  $Q = \frac{\psi(q^2)}{q^{1/2}\psi(q^6)}$  then

$$3 + P^2 - Q^2 + P^2Q^2 = 0. \quad (3.13)$$

*Proof.* Transcribing  $P$  and  $Q$  using (2.4) and (2.7) and simplifying, we get

$$P^2 = m \left(\frac{1-\alpha}{1-\beta}\right)^{1/2} \quad \text{and} \quad Q = m \left(\frac{\alpha}{\beta}\right)^{1/2}, \quad (3.14)$$

where  $\beta$  has degree 3 over  $\alpha$ . Also by [3, p. 234], we have

$$\left(\frac{\alpha}{\beta}\right)^{1/2} = \frac{3+m}{m(m-1)}. \quad (3.15)$$

Invoking using (3.4) and (3.15) in (3.14), we arrive at

$$m = \frac{3-P^2}{P^2+1} = \frac{3+Q^2}{Q^2-1}. \quad (3.16)$$

Simplifying last two fractions of (3.16), we complete the proof. ■

**Remark 3.5.** Employing (1.5) in Theorem 3.4 and simplifying, we easily arrive at Lemma 2.1. So Theorem 3.4 and Lemma 2.1 are equivalent.

**Theorem 3.6.** If  $P = \frac{\phi(q)}{\phi(q^3)}$  and  $Q = \frac{\psi(q)}{q^{1/4}\psi(q^3)}$  then

$$P^4 + Q^4 - P^2Q^4 + 3P^2 = 0. \quad (3.17)$$

*Proof.* Transcribing  $P$  and  $Q$  using (2.3) and (2.6), we get

$$P = \sqrt{m} \quad \text{and} \quad Q = \sqrt{m} \left( \frac{\alpha}{\beta} \right)^{1/8} \quad (3.18)$$

where  $\beta$  has degree 3 over  $\alpha$ . From (3.18), we easily deduce

$$Q^4 = P^4 \left( \frac{\alpha}{\beta} \right)^{1/2}. \quad (3.19)$$

Employing (3.15) in (3.19) and simplifying, we arrive at

$$Q^4 = P^4 \left( \frac{3+m}{m(m-1)} \right). \quad (3.20)$$

Invoking  $m = P^2$  from (3.18) in (3.20) and simplifying, we complete the proof.  $\blacksquare$

#### 4. New Modular Relations for $X(q)$

In this section we prove modular relations connecting continued fraction  $X(q)$  and the continued fractions  $X(-q)$  and  $X(q^4)$ . We also give alternate approach to the modular relation connecting  $X(q)$  and  $X(q^2)$  which is due to Vasuki et al. [8].

**Theorem 4.1.** Let  $x = X(q)$ ,  $y = X(-q)$ ,  $u = X(q^2)$  and  $v = X(q^4)$ , then

- (i)  $x^4 - x^8 + y^4 - y^8 - 10x^4y^4 + 9x^8y^4 + 9x^4y^8 = 0$ ,
- (ii)  $x^4 - u^2 + 3x^4u^2 + u^4 = 0$ ,
- (iii)  $x^8 - v^2 + 8x^4v^2 - 3x^8v^2 - v^4 + 16x^4v^4 - 9x^8v^4$   
 $+ v^6 - 24x^4v^6 + 27x^8v^6 + v^8 = 0$ .

*Proof.* To prove (i), we rewrite (3.1) as

$$P^2Q^2 + Q^2 = 3 - P^2 \quad (4.1)$$

which on squaring gives

$$P^4Q^4 + Q^4 - P^4 - 9 = -2P^2(3 + Q^4). \quad (4.2)$$

Again squaring (4.2), we arrive at

$$(P^4Q^4 + Q^4 - P^4 - 9)^2 = 4P^4(3 + Q^4)^2. \quad (4.3)$$

By Lemma 2.2, we have

$$P^4 = \frac{1 - 9X^4(-q)}{1 - X^4(-q)} \text{ and } Q^4 = \frac{1 - 9X^4(q)}{1 - X^4(q)}. \quad (4.4)$$

Now invoking (4.4) in (4.3) and simplifying we arrive at (i). *To prove (ii)*, we employ (1.5) in Theorem 3.3 and simplify. *To prove (iii)*, rewrite (3.5) as

$$P^4 + Q^4 = P^2(3 - Q^4) \quad (4.5)$$

which on squaring gives

$$(P^4 + Q^4)^2 = P^4(3 - Q^4)^2. \quad (4.6)$$

Now by Lemma 2.2, we have

$$P^4 = \frac{1 - 9X^4(q)}{1 - X^4(q)} \quad (4.7)$$

and by Lemma 2.1, we have

$$Q^2 = \frac{1 - 3X^2(q^4)}{1 + X^2(q^4)}. \quad (4.8)$$

Invoking (4.7) and (4.8) in (4.6) and simplifying, we complete the proof. ■

## 5. General Formulas for Explicit Evaluations of $X(q)$

This section is devoted to establish some general formulas for finding explicit values of  $X(e^{-\pi\sqrt{n/3}})$  and  $X(e^{-4\pi\sqrt{n/3}})$ .

**Theorem 5.1.** For  $q := e^{-\pi\sqrt{n/3}}$ , let

$$L_n = \frac{\phi(q)}{3^{1/4}\phi(q^3)},$$

$$\text{then } X(e^{-\pi\sqrt{n/3}}) = \left( \frac{\sqrt{3}L_n^2 - 1}{3L_n^2(\sqrt{3} + L_n^2)} \right)^{1/4}.$$

*Proof.* Employing (1.5) and the definition of  $L_n$  in Theorem 3.6, we get

$$P = 3^{1/4}L_n \quad \text{and} \quad Q = \frac{1}{X(q)}. \quad (5.1)$$

Invoking (5.1) in (3.17) and simplifying, we complete the proof. ■

We note that the parameter  $L_n$  is a particular case of the parameter  $h_{k,n}$ , where  $k = 3$  defined in (1.6). It is useful to note that  $h_{3,n} = h_{n,3}$  [9]. Yi [9] evaluated  $L_n$  for  $n = 1, 3, 1/3, 5, 1/5, 9, 1/9, 25, 1/25$ . Baruah and Saikia [2] evaluated  $L_n$  for  $n = 2, 1/2$ .

It is clear from Theorem 5.1 that to evaluate  $X(e^{-\pi\sqrt{n/3}})$ , we need the value of  $L_n$ . For example, employing the value  $L_1 = 1$  in Theorem 5.1, we get

$$X(e^{-\pi/\sqrt{3}}) = \left( \frac{\sqrt{3} - 1}{3\sqrt{3} + 3} \right)^{1/4}. \quad (5.2)$$

**Theorem 5.2.** For  $q := e^{-2\pi\sqrt{n/3}}$ , let

$$J_n = \frac{\phi(-q)}{3^{1/4}\phi(-q^3)},$$

then

$$X(e^{-4\pi\sqrt{n/3}}) = \left( \frac{1 - \sqrt{3}J_n^2}{\sqrt{3}J_n^2 + 3} \right)^{1/2}.$$

*Proof.* We use the definition of  $J_n$  in Lemma 2.1 and simplify. ■

We note that the parameter  $J_n$  is a particular case of the parameter  $h'_{k,n}$ , where  $k = 3$ .

**Theorem 5.3.** We have

$$\sqrt{3} \left( J_n^2 - \frac{1}{J_n^2} \right) + \left( \frac{L_n}{J_n} \right)^2 + \left( \frac{J_n}{L_n} \right)^2 = 0. \quad (5.3)$$

*Proof.* We replace  $q$  by  $-q$  in Theorem 3.2 and use the definitions of  $L_n$  and  $J_n$ . ■

Yi [9] evaluated explicit values of  $J_1$  and  $J_3$  in terms of parameter  $h'_{k,n}$ . More explicit values of  $J_n$  can be obtained by using explicit values of  $L_n$  in Theorem 5.3 and solving the resulting equations. For example, by setting  $n = 1$ , employing the value  $L_1 = 1$  in Theorem 5.3, and solving the resulting equation for  $J_1$ , we get

$$J_1 = \left( \frac{3^{1/4} - 1}{3^{1/4} + 1} \right)^{1/4} = 2^{-1/4} \sqrt{\sqrt{3} - 1}, \quad (5.4)$$

where the second expression is due to Yi [9].

By Theorem 5.2 it is obvious that, to evaluate  $X(e^{-4\pi\sqrt{n/3}})$  we need explicit values of  $J_n$ . For example, employing the value  $J_1$  in Theorem 5.2, we get

$$X(e^{-4\pi/\sqrt{3}}) = \sqrt{\frac{2 - 3\sqrt{2} + \sqrt{6}}{6 + 3\sqrt{2} - 6}}. \quad (5.5)$$



**Theorem 5.4.** For  $q := e^{-\pi\sqrt{n/3}}$ , let

$$I_n = \frac{\psi(q)}{3^{1/4}\psi(q^3)},$$

then

$$X(e^{-\pi\sqrt{n/3}}) = \frac{1}{3^{1/4}I_n}.$$

*Proof.* We use the definition of  $I_n$  in (1.5). ■

The parameter  $I_n$  is a particular case of the parameter  $g'_{k,n}$ , where  $k = 3$  defined in (1.9). Baruah and Saikia [2] evaluated  $I_n$  for  $n = 1, 2, 3, 4, 7, 9, 12, 16, 20, 36, 64$ . Employing the values of  $I_n$  in Theorem 5.4 one can easily calculate explicit values of  $X(e^{-\pi\sqrt{n/3}})$ .

## References

- [1] Baruah, N. D., and Saikia, N., Two parameters for Ramanujan's theta-functions and their explicit values, *Rocky Mountain J. Math.*, 37,(6):1747–1790, 2007.
- [2] Baruah, N. D., and Saikia, N., Explicit evaluations of Ramanujan-Göllnitz-Gordon continued fraction, *Monatshefte für Mathematik.*, 154(4):271–288, 2008.
- [3] Berndt, B. C., *Ramanujan's Notebooks, Part III*, Springer-Verlag, New York, 1991.
- [4] Berndt, B. C., *Ramanujan's Notebooks, Part V*, Springer-Verlag, New York, 1998.
- [5] Berndt, B. C. and Chan, H. H., Ramanujan's explicit values for the classical theta-functions, *Mathematika*, 42(5):278–294, 1995.
- [6] Ramanujan, S., *Notebooks* (2 volumes), Tata Institute of Fundamental Research, Bombay, 1957.
- [7] Ramanujan, S., *The Lost Notebook and Other Unpublished Papers*, Narosa, New Delhi, 1988.
- [8] Vasuki, K. R., Bhaskar, N., and Sharath, G., On a continued fraction of order six, *Ann Univ Ferrara*, 56:77–89, 2010.
- [9] Yi, J., Theta-function identities and the explicit formulas for theta-function and their applications, *J. Math. Anal. Appl.*, 292:381–400, 2004.